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CFopic T example 1

Converting Mixed Radicals to
Entire Radicals

Example of a Example of a
Mixed Radicals Entire Radical
245 J20

To convert mixed radical to entire radical:
Example: 2\/5

1. take the coefficient 2 and square it2 °= 4
2. then multiply the 4 by the radicands+/5

J4x5 = 20

INDEX!
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Try: a) 443 B) vy
¢) 25s°\3s d) 2x*Yax




Example 2

Radicals in Simplest Form
( Express Entire Radicals as Mixed Radicals )

Example:+/200

1. Use Prime Factorization

V@D 2-GD
2. Circle groups of 2's

[because it's a Square Rdot
and put them out as coefficients

2:5J2 = 10v2

Do a Factor Tree
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Math 11 4: PRIME FACTORS
N-5
o0

Tl"yl use calculator: press_mUCH
2 2 13
a) 52 b) e’

g

¢) Y864m*n’

—
TOUCH




Example 3
Compare & Order Radicals

Order the following from least to greatest.
83 4(13) 14 V202 1042

1 =+Express each as an entire radical
1
83 4(13)2 14 202 102
=83 V4213 | =142 [=V202 | =v10%
=192 =208 =V196 | =v202 | =+200

[ 3]

2 -~Now, compare and order the radicands
V192, V196, V200, V202, v208
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Try: Order from least to greatest

5, 343, 246, 23




Example 4
Add & Subtract Radicals

Simplify and combine like terms.

a) V50 +32 b) 72x-18x
1 s+Use your simplifying radical skills [see Example 2]
a) V50 + 3V2 b) J72x - 18x
=552 +3\2 =V6-62:x - /3:3-2x
=5V2 +3\2 = 6v2x - 3\2x
=82 =32x
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Try: Simplify and combine like terms.
a) -3v24 + J6 b) \20x - 3.45x
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Fopic2)  Example 1

Multiplying Radicals
Multiply, then simplify where possible.

a) (2@)(-5\/6) b) (8v2 - 5)(9J§ + 6\/5)
1=+ Use distributive property @
2-5136 (8v2 - '5)(9v5 + 6V10)
-10V18 72410 + 4820 - 455 -30/10
2 r~daSimplify the radicals
= -10V3-32 = 72410 + 48225 - 455 - 30710
- 3042 = 7210 +964/5 - 455 -304/10

3 r~<Collect like radicals
= 3042 = 42410 + 51J5

1"
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Try: o 73(5V5-63) b) 9%2m(Yam + 7328)

¢) (4\5 +3)(ﬁ - 5J1_4)
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Example 2
Apply Radical Multiplication
A equilateral triangle placed inside a square is
shown below. The area of the square is 32.cm

a) Find the exact perimeter
of the triangle?
A= S2 * Since the base of the triangle is a side of

the square - we can use the Area of a
32 = S2 Square formula. A=s

V32 =5
Since all sides are the equal - we can now

1/2.2.2.2.2 ;&Iiltiply3bytheside
s=42 = 3(42)=12V2 em
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Example 2 con't

A equilateral triangle placed inside a square is
shown below. The area of the square is 32.cm

b) Find the exact height
of the triangle?

@ We need to use pythagorus theorem
to find the height.
=» one side of the triangle is 4+/2
=» the base is half of the side so:
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Example 2 con't

A equilateral triangle placed inside a square is
shown below. The area of the square is 32.cm

c) Find the exact area of
the triangle?

@ We now know the base is 4v2 and
the height is 276 . Use the formula:

A bk
2
_(#2)(2V6) svi
- 2 )
=412
Area = 8\/§
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Tl"yi An isosceles triangle has a base of /2.
Each of the equal sides is 3+/7 m long.
What is the exact area of the triangle?

V290

16



1. Divide
J15m?®
=~ sm

=+/3m?

Example 3
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Divide Radicals

There are three types you'll will run into:

2. Rationalize

206
i JPNC
2608

J8

A

2./48

»5 g

3. Conjugate
_3
= 2)2-5

3 (24245
T 22-5\2V2+5

62 +15

4J4+10v2 1042 -25
632415
17
-632-15
BT
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Try:
2) 324 x° b) -6 0 6
\/3_x 2%/5 \/@ +1
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